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Complete these: 

 5  x    8      = 40  

 

 21 ÷   7      =   3   

 

 Complete the following 

 

 8  +  5     = 13   

  

   8   - 5  =         3 

  

Complete the equation. Solve the box to reach the answer  

24     ÷   3  +      1  =  9  

   9     - 1 =  8 

   8      x 3  = 24 
 

 

80  ÷ 8  +      2  =  12  

   12    - 2 =  10 

   10     x 8  = 80  
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Complete these: 

 5  x          = 20  

 

 54 ÷         =   8   

 

 Complete the following 

 

   +  12     = 25   

  

   25   -   =         8 

  

Complete the equation. Solve the box to reach the answer  

     ÷   2  +      1  =  8  

   8     - 1 =   

            x 2  =  
 

 

  ÷ 4  +      5  =  13  

   13    - 5 =    

           x 4  =   
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Complete these: 

 6  x          = 54  

 

 72 ÷         =   8   

 

 Complete the following 

 

   +  21     = 76   

  

   76   -   =         54 

  

Complete the equation. Solve the box to reach the answer  

     ÷   7  +      1  =  57  

   57    - 1 =   

            x 3  =  
 

 

  ÷ 4  +      2  =  42  

   42    - 2 =   

      x 8  = 80  
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Complete these: 

 5  x          = 200  

 

 21 ÷         =   300   

 

 Complete the following 

 

   +  5     = 13   

  

   8   -   =         3 

  

Complete the equation. Solve the box to reach the answer  

     ÷   8  -      5  =  2  

   2    + 5 =   

       x 8  =  
 

 

  ÷ 8  -      2  =  6  

   6    + 2 =   

            x 8  =   
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Complete these: 

 3  x          = 24  

 

 81 ÷         =   9   

 

 Complete the following 

 

   +  87     = 99   

  

   76   -      =    37 

  

Complete the equation. Solve the box to reach the answer  

     ÷   4  -      1  =  2  

   2     + 1 =   

            x 4  =  
 

 

  ÷ 4  -      5  =  85  

   85    + 5 =   

            x 4  =   
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Complete these: 

 2  x          = 100  

 

 33 ÷         =   11   

 

 Complete the following 

 

   +  35     = 67   

  

   83   -   =        67 

  

Complete the equation. Solve the box to reach the answer  

     ÷   2  +      1  =  21  

        - 1 =   

            x 2  =  
 

 

  ÷ 5  +      2  =  11  

       - 2 =   

            x 5  =   
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Complete these: 

 90  x          = 630  

 

 500 ÷         =   10   

 

 Complete the following 

 

   +  515     = 613   

  

   35   -   =        23 

  

Complete the equation. Solve the box to reach the answer  

     ÷   6  +      1  =  9  

        - 1 =   

            x 6  =  
 

 

80    ÷ 6  -      2  =  4  

       + 2 =   

        x 6  =   
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Complete these: 

 5  x          = 300  

 

 360 ÷         =   60   

 

 Complete the following 

 

   +  15     = 36   

  

   45   -   =         32 

  

Complete the equation. Solve the box to reach the answer  

     ÷   3  +      1  =  6  

        - 1 =   

            x 3  =  
 

 

  ÷ 2  -      2  =  8  

       + 2 =   

            x 2  =   
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Complete these: 

 2  x          = 40  

 

 60 ÷         =   12   

 

 Complete the following 

 

   +  22     = 43   

  

   87   -   =      63 

  

Complete the equation. Solve the box to reach the answer  

     ÷   3  +      1  =  8  

        - 1 =   

            x 3  =  
 

 

  ÷ 6  -      5  =  3  

       + 5 =   

            x 6  =   
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Complete these: 

 5  x          = 50  

 

 600 ÷         =  300   

 

 Complete the following 

 

   +  87     = 133   

  

   67   -   =       43 

  

Complete the equation. Solve the box to reach the answer  

     ÷   2  +      10  =  18  

        - 10 =   

            x 2  =  
 

 

  ÷ 2  -      1  =  8  

   


